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SN UXEERHY
Hu: L AOHE

SHelr L AIES X CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 10,000 0 10,000
01 AP 22| H| 6,500 0 6,500
OEYE Ols=A 2 29 6,500
02 2324 3,500 0 3,500
OEd=E Olsksi 2H 29 3,500
LAICIEE O g AIR= 29 30,200 0 30,200
307 212t0| ™ 27,000 0 27,000
03 QIZIHY P ESIHIEX 27,000 0 27,000
O AICIEEOZ A2 2¢9 27,000
405 XHAHFI S HI 3,200 0 3,200
01 XAt 2 ZF S| 3,200 0 3,200
OLANCEEOG AMR=2 2Y 3,200
s8N Y AAYH 10,402,695 9,218,086 1,184,609
= 1,871,018
& 1,451,211
Al 7,080,466
2 xel A 10,402,695 9,218,086 1,184,609
= 1,871,018
& 1,451,211
Al 7,080,466
2222 AE =& 2,140,333 1,928,216 212,117
101 Q121 H] 2,105,333 1,893,216 212,117
04 JI2ZtHIZ22NEE S 2,105,333 1,893,216 212,117
O222 =AY =& 2,105,333
201 et d| 5,000 5,000 0
01 AR 22l ] 5,000 5,000 0
O222 =AY =& 5,000
206 M = Hl 30,000 30,000 0
01 X2 H| 30,000 30,000 0
OZ22Z2222AMY =& 30,000
NADSHLKCIAS (HEALSY) 309,338 309, 338 0
= 201,070
Al 108,268
101 21 214| 284 572 284,572 0
& 184,972
Al 99,600
04 JI2tHI22XNSE S 284 572 284,572 0
OXEZ2SH L Xl At 284,572
= 184,972
Al 99,600
201 et d| 4,766 4,766 0




SN A ® A
HE: DREX U MUY
o =T N (e H)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
= 3,098
Al 1,668
01 AP 22| d| 4,766 4,766 0
OXNEE2sHL Al At 4,766
o= 3,098
Al 1,668
202 044l 6,000 6,000 0
= 3,900
Al 2,100
01 2L I 6,000 6,000 0
OXNEZ2SHL XA 6,000
& 3,900
Al 2,100
206 M = Hl 14,000 14,000 0
& 9,100
Al 4,900
01 X2 H| 14,000 14,000 0
OXNEZ2=sH LRl AL 14,000
o= 9,100
Al 4,900
2ol A OO Y SHALSE A 10,000 10,000 0
201 et 10,000 10,000 0
03 Al HH| 10,000 10,000 0
OO A OHHo & HAEXA 10,000
HUEFS 2000 AFS 195,000 156,000 39,000
& 78,000
Al 117,000
307 212t0| & 195,000 156,000 39,000
o= 78,000
Al 117,000
02 QIZHEAAIE E X 195,000 156,000 39,000
OFYFY 2000 Al 195,000
& 78,000
Al 117,000
4060 Al E F X AAS 226,800 226,800 0
& 90,720
Al 136,080
307 2iz2to| A 226,800 226,800 0
&< 90,720
Al 136,080
02 QIZ2IA AAIE E X 226,800 226,800 0
©4060 M EYE FIAX A 226,800
o 90,720
Al 136,080
EMdsD) HEFSHAY 63, 160 33,000 30, 160




o gXel X

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 18,948
Al 44,212
308 XX EHHSOIA 63,160 33,000 30,160
< 18,948
Al 44,212
08 WEII20HEtE = 63,160 33,000 30,160
OSH&stn FESHAY 63,160
< 18,948
Al 44,212
&Y Jlsod N 228,229 228,229 0
< 68,469
Al 159,760
307 21201 A 228,229 228,229 0
< 68,469
Al 159,760
02 LAFAAHEX 228,229 228,229 0
OSEE Jl=od WX 228,229
= 68,469
Al 159,760
ZIESMIIX ML (FHEHXA) 150,000 150,000 0
307 gl2tol & 150,000 150,000 0
02 It S AHE L 150,000 150,000 0
O=JIESIINIX At 150,000
et el EHAML (SN XA) 95,000 20,000 75,000
307 glz2+ol & 95,000 20,000 75,000
02 It M AHEE 95,000 20,000 75,000
OCHS L Xtel &l E At 95,000
NAargarEs dXel&E K2AYG (HSAY) 596,200 485,000 111,200
< 509,000
Al 87,200
307 21201 A 596,200 485,000 111,200
< 509,000
Al 87,200
02 YAFAAFEX 596,200 485,000 111,200
OXNHLHSEE LAel&EE XA 596,200
< 509,000
Al 87,200
Y dH ZZNE FA 674,000 674,000 0
201 Let249] 224,000 224,000 0
01 At 22l 24,000 24,000 0
O3dYd &dH ZzME FX 24,000
03 &Ar2 I 200,000 200,000 0
O&Y dH ZTzdE FJ& 200,000




2N Xl F3EFZ M
HE: DREX U MUY
¢l dXel X (&)
= — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
301 LEHZ 450,000 450,000 0
12JEEd=S 450,000 450,000 0
O34 dH gzY 450,000
M= UMM =0H 294 21,000 29,000 A 8,000
201 L4l 21,000 29,000 A 8,000
01 At 22l 20,000 23,000 A 3,000
Od= FEMNU=0IH 292 20,000
02 =24l 1,000 6,000 A5,000
Od= FUaa=0IH 24 1,000
FEUHLHSSH X&E 339,500 242,500 97,000
< 135,800
Al 203,700
307 glz2tol & 339,500 242,500 97,000
< 135,800
Al 203,700
02 IZtE M AHE X 339,500 242,500 97,000
OFEUHLMSSH X& 339,500
= 135,800
Al 203,700
HNALIMALY BSALR 1= 6,000 5,670 330
201 et 6,000 5,670 330
01 At 22l 6,000 5,670 330
OXYAIMALY SALA W= 6,000
NEF=Ed dEgRelArg 5,004,135 3,672,333 1,331,802
= 1,781,018
< 322,204
Al 2,900,913
301 LerBAF 185,000 0 185,000
= 92,500
= 18,500
Al 74,000
12 J|EtE &= 185,000 0 185,000
OXNG=Ed FELRelAY 185,000
= 92,500
< 18,500
Al 74,000
307 glz2+ol & 4,819,135 3,672,333 1,146,802
= 1,688,518
< 303,704
Al 2,826,913
02 It AAHEE 4,819,135 3,672,333 1,146,802
OXNG=Ed FEL T2 ALY 4,819,135
= 1,688,518




SN A ® A
HE: DREX U MUY
o =T N (e H)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
= 303,704
Al 2,826,913
HEHASLE It XM 95,000 95,000 0
201 gBt2A | 45,000 45,000 0
01 AP 22| H| 30,000 30,000 0
ONFE FHUEZAHH &9 30,000
02 B32%H| 15,000 15,000 0
OX=8 HEAZIHE 29 15,000
301 et M3 50,000 50,000 0]
12 JIEtE2 &= 50,000 50,000 0
OFUEEY Ol0ICIH Z2AUHE AlNMS 50,000
HEASAI SR RFAS(SHREXH) 21,000 21,000 0
308 XHXIEHSOIA 21,000 21,000 0
112/ 2SUHUSHEAXEAE AN Y| 21,000 21,000 0
OFHEASEHADI} OlH =X 21,000
MEE FEY AdXel AFE 196,000 191,000 5,000
= 90,000
& 27,000
Al 79,000
307 QI2t0| & 196,000 191,000 5,000
= 90,000
= 27,000
Al 79,000
02 AI2tAAMAIE E =X 196,000 191,000 5,000
ojxlsyd ZEY dXel AFY 196,000
= 90,000
== 27,000
Al 79,000
IHEsSZANES 29 2,000 6,000 A4 ,000
301 et M= 2,000 6,000 A4,000
12 JIEtE2 &= 2,000 6,000 A4 ,000
OZHNEsZ2NE22 INELE 2,000
DICHMICHE KAE HIHY HOFEAP= 10,000 10,000 0
201 Bt 10,000 10,000 0
01 AP 22| H| 10,000 10,000 0
OD|ICHMICHE et HItHH EHoaAN= 10,000
28 00 HHA AKCO2 5,000 0 5,000
307 giztol A 5,000 0 5,000
02 QIZFA AAIE E X 5,000 0 5,000
02 00 HOHA AL 5,000
NF=FHEZADI 221Q0HAHE U= 4,000 0 4,000
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2N
DN

el

X ZH
S =

A

AAH 2o
2AH 285 N

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
LB LRASH JHY X E 280,520 174,720 105,800
< 84,156
Al 196,364
307 gl2tol & 280,520 174,720 105,800
< 84,156
Al 196,364
02 It HAHE L 280,520 174,720 105,800
Ox&3Zel LetRAI2H XA 280,520
< 84,156
Al 196,364
L2430 JtExxg XA 4,006,624 2,536,800 1,469,824
< 1,201,267
Al 2,805,357
201 LBt 2,400 2,400 0
01 At 22l 2,400 2,400 0
oaazel ez XA 2,400
301 LeEBAF 4,004,224 2,534,400 1,469,824
< 1,201,267
Al 2,802,957
12 J|EtE &= 4,004,224 2,534,400 1,469,824
OxaZo JtExx2 XA 4,004,224
< 1,201,267
Al 2,802,957
HEI EIIE A 22,000 0 22,000
201 LB-2E| 22,000 0 22,000
01 At 22l 22,000 0 22,000
OAHEI HIIZA 22,000
As, S4Aa30 Azst P A A5 XA 3,000 3,000 0
307 glz2+ol & 3,000 3,000 0
02 IZtE M AMHEE 3,000 3,000 0
ONS, ZAMTY ATAS U MY L
| & 3,000
LHIANMEEHEH AME HES 15,000 0 15,000
< 15,000
402 RI2EX=20| A 15,000 0 15,000
< 15,000
02 QI EAILEZ (01X S) 15,000 0 15,000
OAHIXNEZEHMEH AN HES 15,000
< 15,000
L2430 EdES XA 620,000 200,000 420,000
306 =932 200,000 200,000 0
01 &3 200,000 200,000 0




PH 2R BEE MY

M NAZH 43
Ce: MEBHM 243 XH (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
o243 EHE2E 293 XA 200,000
307 21201 A 420,000 0 420,000
08 OIXtEHE 3 420,000 0 420,000
oaaE SdES 0XEH 420,000
ezl e dES OIEN XE 200,000 0 200,000
307 21201 A 200,000 0 200,000
08 OIXt2 &= 200,000 0 200,000
OaaZo FAlbe dEEE 0IXNEA X2 200,000
LaE0Ie E AL X 5,000 5,000 0
307 g2+l & 5,000 5,000 0
02 It M AHE L 5,000 5,000 0
Ox&Ielo & A XA 5,000
HEANYE 2435 XA 4,916,832 2,006,936 2,909,896
| 1,452,840
< 1,242,750
Al 2,221,242
HSAIE &2l =& 38,000 38,000 0
201 L2l 38,000 38,000 0
01 At 2t 2l 30,000 30,000 0
OMESANZE &l =& 30,000
02 8323l 8,000 8,000 0
ONSAE 23 8,000
HSAE 2t A X3 105,000 105,000 0
< 10,500
Al 94,500
307 glz2tol & 105,000 105,000 0
< 10,500
Al 94,500
04 DIZHHALALSE E X 105,000 105,000 0
OHESANZE 23t AL X 105,000
< 10,500
Al 94,500
HdSAE ZAE HFEIT=R0 2¢ 428,688 408,096 20,592
< 128,606
Al 300,082
307 21201 A 428,688 408,096 20,592
= 128,606
Al 300,082
02 YAFAANGFEX 428,688 408,096 20,592
OFSAZE FAUE HEINER0 24 428,688
< 128,606
Al 300,082




SM: LR FHI D
M NAZH 43
Sl HSAY 25 AW CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HSAIE AZOLIN K& AS 4,944 0 4,944
< 2,472
Al 2,472
307 gl2tol & 4,944 0 4,944
< 2,472
Al 2,472
02 It HAHE L 4,944 0 4,944
OFSAIE AFMUN XA 4,944
< 2,472
Al 2,472
HSAE SZME AL (HEAIY) 1,800,000 639,840 1,160, 160
< 1,080,000
Al 720,000
401 Al HIZ 2018 1,800,000 639,840 1,160, 160
< 1,080,000
Al 720,000
01 A& HI 1,796,000 639,840 1,156, 160
ODABXHMH &= 1,796,000
< 1,077,600
Al 718,400
03 Al 20 HI 4,000 0 4,000
ONAMIAHEH &= 4,000
< 2,400
Al 1,600
HEANE FXEE HAAY 1,875,000 0 1,875,000
J| 1,125,000
Al 750,000
401 Al& Bl 28I 1,875,000 0 1,875,000
J| 1,125,000
Al 750,000
01 A& HI 1,875,000 0 1,875,000
OFx& 22X e 1,875,000
J| 1,125,000
Al 750,000
HSAE HE g 32 23 10,000 10,000 0
201 Let2d] 10,000 10,000 0
01 At 22l 4,000 4,000 0
OFSAE B4E &g 22 2 4,000
02 ZZ2YH 6,000 6,000 0
OXHSAE HE &g 32U 2F B3R 4,000
OBE HY B 24 L sr22 2,000
HEANE SIHSH XJ A 19,000 19,000 0
< 9,500
Al 9,500




2N

X ZH
S =

eXtelEEE MY
NS EMH gdEt
dSANE 8435 X2

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

307 glz2tol & 19,000 19,000 0
< 9,500
Al 9,500

06 283 19,000 19,000 0
OFSANZE SITHSH XI&A 19,000
< 9,500
Al 9,500

HSAE SITHLEAIE EXAY 111,200 0 111,200
bl 77.840
< 6,672
Al 26,688

401 A& HIZ 201 8] 111,200 0 111,200
J| 77,840
< 6,672
Al 26,688

01 A& HI 111,200 0 111,200
OstMEEAE &X 111,200
bl 77.840
< 6,672
Al 26,688

HdSAE =846 AL 500,000 0 500,000
J| 250,000
Al 250,000

401 AIEBI L 20HEI 500,000 0 500,000
J| 250,000
Al 250,000

1T AIZHI 500,000 0 500,000
O&EII&Hl HH 500,000
J| 250,000
Al 250,000

HdSAE OFAIE 29 K& 25,000 7,000 18,000
< 5,000
Al 20,000

307 glz2tol & 25,000 7,000 18,000
< 5,000
Al 20,000

04 QIZFHALAIH E = 25,000 7,000 18,000
OHESAZE OIAE 29 K& 25,000
< 5,000
Al 20,000

FHAE 92235 3,165,300 1,029,092 2,136,208
< 1,980,000
Al 1,185,300

HEALSAEA 3,165,300 1,029,092 2,136,208
< 1,980,000
Al 1,185,300
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SN UXEERHY
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ool HEASKH (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
301 LEHZ 2,626,200 469,992 2,156,208
< 1,980,000
Al 646,200
12243 2,626,200 469,992 2,156,208
oO&d= FUXNIFE NI AY 2,626,200
< 1,980,000
Al 646,200
M= HUE0S &SI NIAY 60,000 0 60,000
201 LBt2E| 60,000 0 60,000
01 At 22l 60,000 0 60,000
ogiz XN& 60,000
FEHE 25 280,000 0 280,000
401 AIEHI L 2 CHYI 250,000 0 250,000
01 A& HI 250,000 0 250,000
oOy3EE 7= 250,000
405 XHobF S HI 30,000 0 30,000
01 et ESFH S 30,000 0 30,000
oOFYHE = 30,000
FUESLEA J2HE =8 &9 50,000 0 50,000
207 AR H| 50,000 0 50,000
01 289 50,000 0 50,000
OJIZ2HE =8 A3EY 50,000
NOW EHMsZ2RE 10,000 0 10,000
307 21201 A 10,000 0 10,000
02 YAFAAFEE 10,000 0 10,000
ONW HEOsZEZRE 10,000
HY2IZU (LA HEAFH ) 75,500 70,060 5,440
Jl2dul (Xl dE ™) 75,500 70,060 5,440
Jl2ZHl (LAl ZEF ) 75,500 70,060 5,440
201 Let2d] 50,300 42,460 7,840
01 At 22l 46,700 38,860 7,840
OB+t 20,000
O =&l 19,200
ozg=+¢ 2,500
ONSANESHMNRA(BHEANEY) 2F 5,000
02 2324l 3,600 3,600 0
o0z22= & HA 3,600
202 04l 21,000 24,000 A 3,000
01 = LHA YI 21,000 24,000 A 3,000
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